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®© ma+mb—m=m(a+Db)

@ 64a® + 32ab + 4b* = (8a + 2b)?
® —4a® + 9b*> = (2a + 3b)(2a - 3b)
@ x> -5x-6=(x-2)(x-3)

® 2x* = 5xy 4 3y* = (x - 3y)(2x —y)
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V2=x, V3=y<d W ViExy2 Ul 1oz &
@ x+y @ x%+y? ® Vx+y

@ \/x24y? ® yxy



f(n) o1zt 2w, f(75) - f(48)
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x>0, y<0 o, ohe Ae 7hds] 3t

& iy =x-y
© Va? + \/F"_\/W:Qx
© V¥ - V3 - P = 2
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x+1-

xOlAL, S (x) = f(1) + f(2) + f(3) + - + f(x)
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V2x + V3y =56 = o
== 1!
V3x—2V2y = -2
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11. f(n) = T v A, F()+£(2)+F(3)+---+f(8) o &2?
@ 2 @ 3 ® 2v2-1

@ 2v2+1 ® 32



12. A=4x+2, B=6x2-5x-40°|1
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14. ¥ -2z +72-y* = deEsfistd?

O (x+y+2)(x-y+2) @ (x+y+2)(x-y-2)
® (x-y+z)(x-y-2) @ (x+y-z)(x—-y+2z)

® (x+y-2z)(x-y-2)
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